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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions. Answers are
to be given on the separate answer-sheet.

Please write your Centre Code and Seat No. very clearly (only one digit in one block).
Before writing your Seat No. get it ascertaine from the Centre Conductor. Please see that
no block is left unfilled and even zeros appearing in the Centre Code and Seat No. are
correctly transferred to the appropriate blocks on the booklet and on the answer sheet.

Example :

CENTRE CODE &g %dis

SEAT NO. 214, 5415

10.

For all subsequent purposes your Centre Code and Seat No. shall remain the same. Centre
once alloted will not be changed

All questions carry one mark each.

Since all questions are compulsory do not try to read through the whole question paper
before beginning to answer it.

Begin with the first question and keep on trying one question after another till you finish.

If you do not know the answer to any question, do not spend much time on it and pass
on to the next one. Time permitting you can come back to the questions which you have
left in the first instance and try them again.

Since the time alloted is very short you should make best use of it. The rough work is
to be done in the box given under each page.

Remember you have to mark on your answers in “Mental Ability Test” answer-sheet
only.

Answer to each question is to be indicated in the answer-sheet by encircling with black
pen provided to you in the appropriate number of alternative in the answer-sheet from
amongst the ones given for the corresponding question in the test booklet.

Do not write anything except Centre Code, Seat No. and rough work anywhere in this
booklet.

Now turn to the next page and start answering the questions.
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| ollgs anaiudan |

W 1ol 30 | yanl : {lad el el e s3 UMISL 59 dval lasl ?

1. 336, 210, 120, 60, 24, ?

(1) 12 (2) 6
(3) 5 “4) 8

2. 32,37,47, 58,71, ?

(1) 79 (2) 78
(3) 82 (4) 80

3. 5,6,9,16, 31,2

(1) 46 (2) 58
(3) 61 4) 62
Y. 4l 6: [ yarl: A ol Z 213w maRHdl A=1,B=3,C=5D=7, ....... 2L UHISL

av{lal dl AL UsAldlL G dvuil.
4. 29 Yi v 37 Hi &Rl aRAU BUAAIRL A&R sS4l 7

()P (2) R
3)Q “4) S
5. 39 ML, 27 ML, 11 4l vt 29 Ml 28R A9 dl s4l 2Adyel aos o1l ?
(1) KING (2) FONT
(3) REST (4) FAUL
6. ‘OEY N i &R0l s v2yel a0e ot 9. d oe-l a2rla vlasiRl eRiAL s4is
sUl sl ?
(1) 19 2) 9
(3) 27 (4) 31
Only for Rough Work
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| Mental Ability Test |

Q. 1 to 3 : | Directions : Which number will replace the question marks in the given series.

1.

336, 210, 120, 60, 24, ?

(1) 12 2) 6
(3)5 4) 8

32, 37,47, 58, 71, ?

(1) 79 (2) 78
(3) 82 4) 80

5,6,9, 16,31, ?

(1) 46 (2) 58
(3) 61 4) 62

Q. 4 to 6 : | Directions : If the alphabets A to Z are coded as follows. A=1,B=3,C=35,

D=7, ... then answer the following questions.

4.  Write the letter that appears exactly at the middle place between 29" and 37" letter.
(1) P 2) R
3)Q 4 S
5. Write the meaningful word that will be prepared by taking 39%, 27% 11" and 29" letter
(1) KING (2) FONT
(3) REST (4) FAUL
6. A meaningful word is prepared by using the letters ‘O, E, Y, N, J’. Write the number of
the letter that comes exactly at the middle place of that word.
(1) 19 2)9
(3) 27 (4) 31
Only for Rough Work
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W, 74l 9 | yAnl s ol A Al vusla o,

-+ -+ o T s
Q) O |Q S,
(1) (2) (3) 4)
N A A

5> Akl |
a | j\ :
(1) (2) (3) (4)
M U
AU R | | T3 | R
| BN A
(1) (2) 3) 4)

NMMS-MAT-18 | VIII | M4 |
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Q. 7 to 9 : | Directions : Find the odd figure

7.
-+ -+ o T ®
QO] 1O,
(1) () (3) (4)
g.
A A A
5> \)\ Akl —J
/ I e I I
(D) (2) (3) 4)
0.

(1) (2) 3) 4)

Only for Rough Work
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NN .

U. 10 ol 12 -l : uddl uesl oflog ue ALl Fdl Aoit 9 dalor Aol >l i Al ueHi 9.

2l usf2genl e 4oy uuly qull.

10. KTS : JLSURT : : 2 : MOLNIL
(1) LMK (2) PKS
(3) NMK (4) MNK

11. SPJ : XUO : : THN : ?
(1) XNT (2) TMS
(3) YNT (4) YMS
12. AMK : HUT : : JDP : ?
(1) QLY (2) QKW
(3) QYL (4) QIX

Y. 13 ol 15 |g2anl ¢ {12 uadldl 0441 20Ul Aqval s QR [FHIdAIR 9. d [FasHdl

AU 5T AR 22 Yoy yuly guil.

13. 4|5 | 141
712 | 57
316 |2
(1) 125 (2) 167
(3) 198 (4) 225
14. 13| 61 | 20
44| 3 | 2
8 | 80| 5
(1) 29 (2) 31
(3) 33 (4) 37

Only for Rough Work
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Q. 10 to 12 :| Directions : In the following questions there is a specific relation between first
and second term. The same relationship exists between third and fourth term,
which will replace the question mark. Select the correct alternative from the
given alternatives.

10. KTS : JLSURT : : ? : MOLNIJL

(1) LMK (2) PKS
(3) NMK (4) MNK

I1. SPJ: XUO :: THN : ?

(1) XNT (2) TMS
(3) YNT (4) YMS

12. AMK : HUT : : JDP : ?

(1) QLY (2) QKW
3) QYL (4) QIX

Q. 13 to 15 :| Directions : In the following questions numbers are written with a specific rule.
According to that rule which alternative will be in place of question mark?

13. 4 | 5 141
712 57
3 6 ?

(1) 125 (2) 167
(3) 198 (4) 225
14. 131 61 [ 20
441 3 ?
8 80 | 5
(1) 29 (2) 31
(3) 33 (4) 37
Only for Rough Work
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15. 56| 39 | 22
40| 38 | 36
61| 2 | 29
(1) 45 (2) 47
(3) 53 4) 59
16. 1 12122 2016 L 2% AHAR cll. dl 15 2R 2025 1L A s34l AR el ?
(1) AlHaUR (2) HamaR
(3) ARAR (4) YsaAR
U. 17 14 18

AL s {12 200 WA [ARL et uHRL 3is RAs(A sl ol awll .

d % S0 Vil Yedl 3dl vl o uaiiHiel L.

17. us 2usld

B2 2uglail

JZAN
NS

<

N

(1)

2) 3)

4

Only for Rough Work
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15.

16.

561 39 | 22
40 38 | 36
61| ? 29
(1) 45 (2) 47
(3) 53 4) 59
It was monday on 1% Aug. 2016. Then which day will be on 1% Aug. 2025?
(1) Monday (2) Tuesday
(3) Thursday (4) Friday

Q. 17 & 18 :|Directions : The folded figure of a square paper is given below. If it is unfolded,

17.

how will it look like? select the correct alternative given.

Question figure

Answer figures

N

< Nz

(1) 2) 3) 4

Only for Rough Work

NMMS-MAT-18 | VIII | M4 | 11 of 48




18, Ust »usld

BaR 2ALsldxil

S

(D 2) 3) 4

. 19 ol 22 :yadl : {lAAL Wl qvaledl s QR Ay el 9. 2uual valdnil 218

uuly o AHS AL YRl 9. d el 1oy ualy quil.

19. 29, 40, 53
(1) 30 (2) 68
(3) 84 4) 14

20. 48, 832, 618
(1) 22 (2) 515
(3) 202 (4) 204

21. 512, 619, 327

(1) 2104 (2) 49
(3) 865 (4) 3532
Only for Rough Work
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18. Question figure

Answer figures

N

S

(1) 2) 3) 4)

Q. 19 to 22 :|Directions : In each of the following questions find out the term which matches

the given group.

19. 29, 40, 53
(1) 30 (2) 68
(3) 84 (4) 14
20. 48, 832, 618
(1) 22 (2) 515
(3) 202 (4) 204

21. 512, 619, 327

(1) 2104 (2) 49
(3) 865 (4) 3532
Only for Rough Work
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22. 218, 66, 345

(1) 725 (2) 234
(3) 514 (4) 623

U. 23 it 24| A : uddl vusladl ol 2ausld e dl A6l © ddly Aol 1w 2 2l

Uglanl 9. dl delq il usfg e d100 yald qul,

23, ua sl

L L] 'Y
/ . '—‘—9 (F l;
— —r— >
G uslail
Uz T
(D 2) 3) 4
Only for Rough Work
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22. 218, 66, 345

(1) 725 (2) 234
(3) 514 (4) 623

Q. 23 & 24 :[Directions : In the following questions there is a specific relation between first

and second figure. The same relationship exists between the third and the fourth
figure which will replace the question mark. Select the correct figure from the
alternatives given below each question.

23. Question figures

DO B i e
ey —— N

Answer figures

—=— —=— —=— —H
S V1SS b
(1) 2 3) 4
Only for Rough Work
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24, ust vuslail

)
s

/

</
\J

B 2ALs(dxil

(1

\

7

/

3)

(4)

25. AR 25 woudl yd ds 6 (5.4 e ull wellony aolla sl 4 (5.4, edl. omel
ol aolla 2 (3.4, el usdl sl wmsllonsy aslla 1 (3.3, 20l d usl sl st
aufla 8 [3.3{l. wladl 2dl. 9ed Grr drs aulla 3 [3.3{l. xS aledl. uedl awelloisy 450
aufla 5 (3.3{l. awdl. dl o el 59 [Bausi e ?

(1) Gux (2) uly
(3) HA 22U (4) yd

26. MR L 9l ds ed. d 3ol i 1350 <Al el qodl A ddl [l s34 dl dl a3l
[Bau 5 ?

(1) yd (2) wBn
(3) 2R (4) s
Only for Rough Work
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24. Question figures

25.

26.

\

Yo kZ NS o
\

(1 2) 3) 4)

From one place Sameer travels 6km. towards East. Then he turns right and travels 4km.
Again he turns right and walks 2km. Again he turns right and walks 1km. Then he turns
left and walks 8km. Now he turns North and stops after walking 3km. then he turns right
making angle 45° and walks 5km. Find his direction from the origin.

(1) North (2) West
(3) At the origin (4) East

Tushar faces North-East direction then he turns left making angle 135°. and then did
‘Shirshasan’. Which direction he faces now?

(1) East (2) West
(3) South-East (4) South-West
Only for Rough Work
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27.

s eANHL Rliil uieon wiHl sy el Gloll 8. neeldl suis dedel 98l 9, 24
RLNL lUHL 9. dl sANHL RdlMIAL sUls Sea™l ¢ ?

(1) 21l Al (2) 21l AL

(3) ve@l eAHl (4) ve@l »ARUIRHL

U. 28 el 31|: AL @ i auiHleldl Gualol s3a 1AL Uil Gdr @vil,

28.

29.

30.

31.

s A5MAs AL 2l EARTH 208 DBQUG idl @viid 9.dl d % Aislds el VENUS
ot 3dl dd quidl ?

(1) UFMVR (2) TEMVR

(3) WFOTR (4) UFMTR

s ASAs HML A BEL = 19 2 TIME = 47 814 dl SMILE = ?
(1) 59 (2) 58

(3) 57 4) 56

s AB[AS HIMHL % RIO 208 QSHINP Adl @iy 9 dl d o Aislds isidl NET 0t
5dl Ad @vall ?

(1) MLDEUV (2) MODFSU
(3) MDOSUF (4) MODSFU

s ALs[As UMM CUSTMER 2% SUCTREM Adl dvlid 9. dl d % Auislas sl
PRODUCT 0% 3l <ld awall ?

(1) RPDOCUT (2) ORPDTCU
(3) ORPUDCT (4) ORUDTCP
Only for Rough Work
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27.

In a row Jaswandi is standing at 5" place behind Nilima. Jaswandi is standing at 6™ place

from behind and she is 20™ from the front then Nilima is standing at which position?
(1) 16" from front (2) 17" from front

(3) Tenth from behind (4) Eleventh from behind

Q. 28 to 31 :[Directions : Using English alphabets answer the following questions.

28.

29.

30.

31.

In a code language if EARTH = DBQUG then in the same language VENUS = ?
(1) UFMVR (2) TFMVR
(3) WFOTR (4) UFMTR

In a code language if BEL = 19 and TIME = 47. then SMILE = ?

(1) 59 (2) 58

(3) 57 4) 56

In a code language RIO = QSHIJNP then in the same code language how to write word
net ?

(1) MLDEUV (2) MODFSU

(3) MDOSUF (4) MODSFU

In a code language CUSTMER = SUCTREM then in the same code language
PRODUCT =7?

(1) RPDOCUT (2) ORPDTCU
(3) ORPUDCT (4) ORUDTCP
Only for Rough Work
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u. 32 2l 34 (-l : 1A 2utel 2ugla-l oudl awolld is ad dair sdl. dldd e 530 1A
Yssilel G @vil,

SN,

1@
@

> D

32, lAmiel 54 Rg (O -l ologHi 2a8l €l ?

m o (P o <P @ (P

33, AlA-iel 5 250 dur 2dal a9 ?
9

/>
(1) m @) ﬂ

3| ™ @ | P Q

34, {laumidl sy g~ (’ L AHAL YREAHIOL YR Al ?

o () @ <) > @ ()

Only for Rough Work

NMMS-MAT-18 | VIII | M4 | 20 of 48




Q. 32 to 34 :|Directions : The adjacent figure is folded to form a cube. Observe the figure and

answer the following questions.

SN,

1Q
@
> D

32. Which sign from the following will not be adjacent to Q ?

m <y o (P o< @ (P

33.  Which of the following figure is the figure obtained by folding the paper to form a cube.

/>
(1) E\ @) ﬂ

3)

4 oQ

34. What sign will be on the surface opposite to surface having (, sign ?

o () @ ) > @ ()

Only for Rough Work
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U. 35l 37 f|yAll: 3 x 3 x 3 AA5H HIUAL xS dlsdiell vl 2sdl 9l avid AR Glewl Yue
ALl 2 olLdlel 6L yin Ylotl 200 20l d uesl del 1x 1 x 1 253l |l
......... 2531 sul. dl (1AL Ul ool quil.

35, ¥l Y oL U Yloll 291 gld mal s2dl g5l Haal 7

1) 3 )9
(3) 27 4) 18
36, lsURL Yweidl 90 A Sl Hdl 253l sedl ?
(1) 0 ) 1
(3)3 4 9
37. 6L YneIoL UR oLdl 201 gld vial gsal sl ?
(13 2)9
(3) 10 4) 12

38, usfAgedl wouil g vuadl ? Aoy wuly quil.

DEC [NOV | MAR
MAY | MAR | FEB
JUL ?  [JAN

(1) AUG (2) SEPT (3) APR (4) JUN

39. % — ed dRUSIR, + Ved MIRUSIR, x A AR 2 + ed olleoilsl €y dl
8-3+15+5=7
(1) 21 (2) 20 (3) 12 4) 8

Only for Rough Work
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Q. 35 to 37 :|Directions : A cube having dimensions 3 x 3 x 3 is painted with violet and

35.

36.

37.

38.

39.

yellow colour. The four vertical faces are painted violet and the remaining two
are painted yellow. Then the block is cut by 1 x 1 x 1 unit dimensions in small
blocks. Answer the following quiestions.

How many blocks are there painted yellow an one surface ?

()3 2)9

(3) 27 4) 18

How many blocks are there which are not painted by any one colour ?
(1o )1

(3)3 4 9

How many blocks are there having two surfaces violet ?

(1) 3 29

(3) 10 4) 12

Observe the following figure and choose the correct alternative to replace the question
mark.

DEC |NOV |[MAR
MAY | MAR | FEB
JUL ?  [JAN

(1) AUG (2) SEPT (3) APR (4) JUN
If — means multiplication + means division x means addition and + means subtraction
then 8 -3 +15+5=7

(1) 21 (2) 20 3) 12 (4) 8

Only for Rough Work
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40. % 7x9=256, 11 x 13 =132 15 x 17 =240 814 dl 13 x 15 =2

(1) 196 (2) 195
(3) 182 (4) 169
U. 41 ol 43 (el : 200l 20130 BieRl Ul 1AL Wil Gl vaiumil .
5
6 7
8 9 10
11 12 13 14
15 16 17 18 19
20 21 22 23 24 25
41. 15,11, 16 : 16,22, 17 11,8, 12 :?
(1) 8, 12,9 (2) 17, 23 18
(3) 12, 22, 17 4) 12, 17, 13
42. 6,8,12,9 : 12, 16,22, 17 7,9, 13,10 : ?
(1) 18, 19, 24, 25 (2) 16, 15, 20, 21
(3) 13, 17, 23, 18 (4) 13, 17, 18, 14
43. 6,5,7 6,9, 7 9,7,10 : ?
(1) 16, 22, 17 (2) 18, 23, 24
(3) 9, 23, 10 4) 9, 13, 10
Only for Rough Work
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40.
(1) 196
(3) 182
Q. 41 to 43 :

If 7x9=256,11 x 13 =132 and 15 x 17 = 240 then 13 x 15 =7?

(2) 195
(4) 169

Directions : Observe the pyramid of numbers and choose the correct alternative

that will replace the question mark.

5
6 7
8 9 10
11 12 13 14
15 16 17 18 19
20 21 22 23 24 25
41. 15, 11,16 : 16,22, 17 11,8, 12 : 2
(1) 8, 12, 9 (2) 17, 23 18
(3) 12, 22, 17 4) 12, 17, 13
42. 6,8,12,9 : 12, 16,22, 17 7,9, 13,10 : ?
(1) 18, 19, 24, 25 (2) 16, 15, 20, 21
(3) 13, 17, 23, 18 4) 13, 17, 18, 14
43. 6,57 : 6,9,7 9,7,10 : 2
(1) 16, 22, 17 (2) 18, 23, 24
(3) 9, 23, 10 4) 9, 13, 10
Only for Rough Work
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U. 44 2l 47 |-l 0l suslanl sedis arisla gsat Al 21 L 530 9. dn o] sugel

0 9. 2uslad Mlae s34 {lAAL uaddlqar gaie sl

44,
(1) 60 (2) 64
(3) 54 4) 50
45. AR olygiel Widl g5l sedl €9 7
(1) 2 Q) 4
3) 6 “4) 8

46. 8L 61y 01l Sld Al sedl 253l €9 ?

(1) 4 (2) 6
(3) 8 4 9
47. A »aRel suldal 25l S2Al WML iy, 2s3tel Yool usl ¢ 7
(1) 2 (2) 4
)5 (4) 6
Only for Rough Work
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Q. 44 to 47 :|Directions : In the following figure the solid cube is painted on all sides by a

44,

45.

46.

47.

N
<\i -
’\i\ ; |
\\\

questions.

_r

What is the total number of blocks in the figure.

single colour. Observe the given solid and choose the correct alternative for the

(1) 60 (2) 64

(3) 54 4) 50

Find the total number of blocks whose four faces are coloured.
(1) 2 (2) 4

(3) 6 4) 8

Find the total number of blocks whose three sides are painted.
(1) 4 (2) 6

3) 8 49

How many surfaces of the block denoted by letter ‘A’ has touched the surfaces of other
blocks ?

(1) 2 ) 4

(3)5 4) 6

Only for Rough Work
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Y. 48 ol 50 |-l : [Addld ue vl

48. (1) 224 (2) 216
(3) 264 (4) 232

49. (1 8 2 133
ORTP @) 154

3 19 5 154

) 136 4 176

50. (1) 6921 (2) 651
(3) 571 4) 6741

W. ST yasl s 2l uss sugla well-l ysewdru Glefl uvidl ddq uelxi ulaléie 39 evusl
d ualumil sl
usd, L5ld

B 2ALsldxil

(1) @) (3) @)

Only for Rough Work
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Q. 48 to 50 :|Directions : Find the odd term.

48. (1) 224 2) 216
(3) 264 (4) 232

9. (1) 2 5 133
ORI @) 154

3y 12 4 B4

) 136 @) 176

50. (1) 6921 (2) 651
(3) 571 (4) 6741

Q. 51 : Directions : The question figure given below is held vertically on water surface. How
will the reflection of the given figure in water look ? select the correct alternative.

Question figure

Answer figures

(1) (2) 3) (4)

Only for Rough Work
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U. 52 ol 54 el AL UsHL A T L S26ls 608 2UUAL €9, A M 1T L dAL Al

AAL53L SUUAL €9, UL o 4 T AL 20ll HaRUAL sHAl 82 o g A2l. d Aislas
el ol {12 usdldlL Yoy Gl uafmidl il

™ I ™ 11

RIM 963
MALL 7547
RULE 1726
MORE 5362
BOOM 3835
52. MAIL = ?
(1) 3486 (2) 5497 (3) 6479 (4) 5387
53. BEAM = ?
(1) 3857 (2) 8235 (3) 8245 (4) 5821

54, MORAL = ?
(1) 53647 (2) 56381  (3) 53649  (4) 57142

U. 55 &l 56 fya-il: (Al 2uglanl 2utel Avami 248 [Qlre Ran o, d 20l usdgndl

%oqw“{ Yoy tqu ab&

“A A A

(1) 73 (2) 80 (3) 83 (4) 99
56.
5 6
/N AN
4 5 1,
(1) 22 (2) 30 (3) 32 (4) 36
Only for Rough Work
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Q. 52 to 54

:|Directions : In the given questions there is a relation between column I and

column II in a code language. By using the code language answer the following
questions.

Column I Column II
RIM 963
MALL 7547
RULE 1726
MORE 5362
BOOM 3835
52. MAIL =7?
(1) 3486 (2) 5497 (3) 6479 (4) 5387
53. BEAM =7?
(1) 3857 (2) 8235 (3) 8245 (4) 5821
54. MORAL =7?
(1) 53647 (2) 56381 (3) 53649 (4) 57142
Q. 55 & 56 :|Directions : Observe the following figure and choose from the alternatives which

number will replace the question mark ?

CAAA

(1) 73

(2) 80 (3) 83 4) 99

(1) 22

(2) 30 (3) 32 (4) 36
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Y. 57 Al 59 {4l $H AR 54, U 24199 ?

57.

58.

59.

KSD, LRE, MQF, NPG, ?
(1) OWH (2) OQF (3) ORJ (4) OOH
BC, EF, IJ, NO, ?

(1) ST (2) TU (3) UV (4) RS
DG 11, JM 23, PS 35, ?

(1) YX 49 2)TY 45 (3)UX 45 (4) VY 47

~ o .

U. 60 Al 62 {4l : (AL usdiHl 2aRld s QR od 2UUG 9. d o A2 YRidld ULy

[N

60.

61.

62.

COIDRENN

17PR WY24 DF5

(1) ST18 (2) 9HK (3) BE4 (4) 13LN
XT RN FB
(1) NK (2) OK (3) BJ (4) SP

CKT NQD BLT

(1) XFD (2) DGH (3) LRH (4) MKT
U. 63 e 64 1 AL ¢ &R dyolg 6Bl viedA s3I vl UL vidsH sUL &R
199l ?
63. a ba ab aaab a
(1) aaaaa (2) ababa (3) abbab (4) babab
64. cccbb aa cc bbbaa c
(1) acbc (2) baca (3) baba (4) acba
U, 65 1 AGA ¥A sl 312 [Baell Hi2l 9. i av wdadl 14 Hl ara1is oA »udl elu
dl Agdl 14 Hl ara2uis sl AR 2udl sa ?
(1) HamarR Q) 2RAR  (3) YsaArR (@) alAar
Only for Rough Work
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Q. 57 to 59 :

Directions : In each of the following questions write which word in sequence
replaces the question mark

57. KSD, LRE, MQF, NPG, ?

(1) OWH (2) OQF (3) ORJ (4) OOH
58. BC, EF, 1J, NO, ?
(1) ST (2) TU (3) UV (4) RS
59. DG 11, JM 23, PS 35, ?
(1) YX 49 (2) TY 45 3) UX 45 (4) VY 47
Q. 60 to 62 :[Directions : In the following questions a specific group is given. From the given

alternatives find out the right term which matches the given group.

60. 17PR WY24 DF5
(1) ST18 (2) 9HK (3) BE4 (4) 13LN
61. XT RN FB
(1) NK (2) OK (3) BJ (4) SP
62. CKT NQD BLT
(1) XFD (2) DGH (3) LRH (4) MKT
Q. 63 & 64 :[Directions : A rhythmic arrangement of alphabets is given. The missing letter
alphabets appear in the same order in one of the alternative answer. Find the
correct alternative.
63. a ba ab aaab a
(1) aaaaa (2) ababa (3) abbab (4) babab
64. cccbb aa cc bbbaa c
(1) acbc (2) baca (3) baba (4) acba
Q. 65 : Rahul is elder than Jayesh by 312 days. In an ordinary year Jayesh’s 14™ birthday falls

on wednesday then on which day Rahul’s 14" birthday will be ?

(1) Tuesday (2) Thursday (3) Friday

(4) Saturday
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U. 66 2 67]: YAl : s ARAs[A sl oyl awll d [alre gzt siidl usqpuglan
oLl 9. 2L S0 vliaaldl d 3dl 2l d Hie dled, yuiy k).

66. Us sld
- —
R
| |
L. — 1

B 2ALsldil

JuviQyslvie/lQws]
RS

, () _
(1) (2) 3) (4)
67. Ust vusld
r-T
|
I

N

B 2ALsldil
’ N ' :
0 o _0]|°——°||a°n
oo ) D o[]o
(1) (2) 3) 4)

Only for Rough Work
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Q. 66 & 67 :[Directions : A square piece of paper is folded and cut at specific spots as shown

in the figure. The paper when unfolded will look like as shown in one of the
alternatives. Select the correct alternative.

66. Question figure

s

| I

L. — 1

Answer figures

~ QDI T D
BT

) ) (4)

Q
S

N

67. Question figure

I'“_"“W

Answer figures

O O_0
oo ) D o[]o
(1) (2) 3) 4)
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.68 ¢ M3 drll 8l yd ds 18 (3.l aused u ol il Hellondy adld 3 (3.4, 24

NN A

53l amellony aolla asl 6 (3.4, 2id2 519, 9ed 2oll ouy aolla dsl 6 (5.4l »idz
st dl Mea 8 WAl 59 [BauHi 2 2l vidur ¢l ?

(1) 2+, 15 (3.4, (2) A, 20 5.4,
(3) daus, 21 [5.41. 4) ela, 15 (5.4,

U. 69 Al 71 {y2u-l @ (AL urAni uddl Avadl ofle Aval w12 Fdl dolt © ddl o Aol Al

69.

70.

71.

i 2lell AvHl 9. dl Aol W] usAlagddl gouil dion uuly ik,
121 : 15 ::232: 7
(1) 48 (2) 16 (3) 14 (4) 49
738 : 11 :: 966 : ?
(1) 15 (2) 22 (3) 16 4) 17
2:0.008::3:7?
(1) 27 (2) 0.27 (3) 0.027 (4) 0.0027

W. 72 Al 74 {yunil: {lAALeds uaAnl Usaviglazil vis [Alre suell secid . d % s3 AgUR

U ug -l Ul 59 gl 2uadl d don yuiye]l caldl.

72. s vuglazi T 5 o) 5 N
L s )
X, A X + X o
BrR 2usldil 5 < N\ =
A < |O Al 1o X |5 +
-+ + -+ O
(D 2) 3) 4
Only for Rough Work
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Q. 68 : Mahesh went 18km. to East on bicycle from his house. Then he turned right and

travelled 3km. Again he turned right and travelled 6km. At the end he turned left and
travelled 6km. Now how far Mahesh is from his house and in which direction ?

(1) South—East, 15km. (2) South—West, 20km.
(3) North—East, 21km. (4) South 15km.

Q. 69 to 71 :[Direction : In the following questions there is a specific relation between the first

69.

70.

71.

and the second number. The same relationship exists between the third and the
fourth number which will replace the question mark. Select the correct alterna-
tive from the given alternatives.

121 : 15 ::232:7

(1) 48 (2) 16 3) 14 (4) 49
738 : 11 :: 966 : ?

(1) 15 (2) 22 (3) 16 (4) 17
2:0.008::3:7?

(1) 27 (2) 0.27 (3) 0.027 (4) 0.0027

Q. 72 to 74 :|Directions : In each of the following, question figures change in a particular

order. Find out the correct figure from the alternatives which will replace the
question mark ?

72. Question figures
+ e O O AN
b >
X, - X + X o
Answer figures

) 3 ~ %

D X O Ao Xl D -H
+ -+ + o
(1) (2) 3) (4)
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73, ust vuglail

N AN

B uslail |
niEEiREn

IR £O—
1 ~

il \

(2) 3) 4)

é
T
;L
i

74, ust vuslail

(1) (2) ) 4)

Only for Rough Work
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73.

Question figures

« 1727 oA !
SN L] ' .
! } |

L 5 co— o lLe> o— o0 «—

(2)

2)
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50 yadl - ayel usla yel sal wie 4oy yuly .
Ust 5l

Bz 2uslail

N ’ | -~

S0 B R A

(1) (2) 3) 4)

w. 76 ol 78 |yl 2l A wuslad Mdas s AL Uil Grl sillal walamid) o,
39 27 O = Vg
(2 _
o 9 <l iR
11 =s8us:
45 Y

76. %edl AU vidl s 9 7

(1) 29 2) 12
(3) 31 4) 22
Only for Rough Work
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75 : Directions :

In the following question the given figure is incomplete. Select the correct
alternative which can complete the figure.

Question figure

Answer figures

——— |
\ "~ l ~\ N\
~ \ -\ || o\ \ .\
y | ] Py L ™)) N
ﬂ——r—ﬁ—-—-‘
(1 (2) (3) 4)

Q. 76 to 78 :|Directions : Observe the Venn diagram and answer the questions that follow.

3 9 27 () = Farmer

45

(2 q = Engineer

10 19
L | = Photographer

76. How many Engineers are doing farming ?

(1) 29 ) 12
(3) 31 4) 22
Only for Rough Work
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77. $edl vigdi slelausl 2uad € 7
(1) 41 ) 12
(3) 22 4) 10
78. 51218l A 2uazdl Sl val AR seal ?
(1) 66 () 27
(3) 39 (4) 46

U, 79 ol 82 -l 1 (1A s [RuMlAl A4S 20Ul 9. d [Fud {lAAL Avaiuyed dld) ul 9.

835 UaAHiAL AvUlAL Al [Ru alldl siel.
(1) Avaledl 9o 530 dui Avaldl oHRll GHRL
(2) vl 490 530 d-l 24380 53

(3) vl 8t 530 dHil d vl ol s3U.
(4) vl uin ALl s34 dMl »L Hadl.

79. 24 48 80 15
80. 43 23 28 18
8l. 200 72 162 50
82. 210 24 336 60

U. 83 ol 84 {2l : Aolldl, ™AL, lldin oot o139, ARl R oiaa Sadl oH 9. AUl $5d

Aldl 21 s A, 69 A0l 2 UL [RALA A HLOLRL M, 9. cll AL UL
B Quil.

83. 5y &4 «A[AdlA dAHg Al ?

(1) dLalet (2) HI2IRL
(3) Aul (4) 3adl
Only for Rough Work
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77. How many Farmers are Photographers ?

(1) 41 (2) 12
(3) 22 (4) 10
78. How many Engineers are there who are not Photographers ?
(1) 66 (2) 27
(3) 39 (4) 46

Q. 79 to 82 :|Directions : Identify by which rule the following numbers perform a set.

Option Rule

(1) Obtain the square of a number and add twice the number.
(2) Half of a square of number.

(3) Subtract the number from the cube of that number.

(4) Add three to five times of the number.
79. 24 48 80 15
80. 43 23 28 18
81. 200 72 162 50

82. 210 24 336 60

Q. 83 & 84 :[Directions : Sangeeta, Namita and Neeta like ‘Rose’ flower. Except Sarita all

like ‘Kevada’. Only Radha and Neeta like ‘Chapha’. Except Sangeeta and Radha
other love ‘Mogra’. Answer the following questions.

83. Which flower Namita does not like ?

(1) Rose (2) Mogra
(3) Chapha (4) Kevada
Only for Rough Work
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84. RAdlclA AR €9 Ui At Mg el v 5y 54 9 7

(1) a3l (2) ddlol

(3) Aul (4) 2121

u. 85 ol 86 {yau-il : 20l Guslad Mdlam s3AA AL uadl wie 410y yuly ikl

TS~

85. DBusiael sa Aval sedl o ?
(15 (2) 6
(3) 8 4) 10

86. uslaui undor agrsiadl Aval sedl © ?

(1) 5 (2) 6
()7 (4) 8
Only for Rough Work
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84. Name the flower which sangeeta likes but not Radha ?
(1) Kevada (2) Rose
(3) Chapha (4) Mogra

Q. 85 & 86 :|Directions : Observe the following figure and answer the following questions.

TS~

85. What is the total number of triangles in the figure.
(1) s (2) 6
(3) 8 4) 10

86. Find the number of trapeziums in the figure.

(1) 5 (2) 6
()7 (4) 8
Only for Rough Work
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Y. 87 Al 90 {3yl : [Adld ug k.

87. (1) EP ) JK
(3) MH (4) NF
88. (1) CDL (2) DET
(3) LBW (4) DFX
89. (1) MPS (2) NRV
(3) LOR (4) EHK
90. (1) GOH (2) CXT
(3) KXM (4) RVD
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Q. 87 to 90 :|Directions : Find the odd term.

87. (1) EP ) K
(3) MH (4) NF
88. (1) CDL (2) DET
(3) LBW (4) DFX
89. (1) MPS (2) NRV
(3) LOR (4) EHK
90. (1) GOH (2) CXT
(3) KXM (4) RVD
Only for Rough Work
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